(o — ) 02 Y 0Z Y 02 i 02

m @ 10og lgoog 1098 1098

m. 9 =¢ - &=+ ) |og] e = + 6+ |0g| € =% - (8- )]0 = ¢ - Lx9 |02 fq
m@ 8 = ¢ — (01 = ) 161 | 01 = + (or=o1) (61 | € = 9 - (0 + ) |6l — 8 - xoD |6 [ ¥
m@ 2 = 6 - (6= ) 81| g1 = + (6+%8) (81| v =6 - (6= ) |8l =2 - (6x9 |8l
3 s =v-@8+ ) |lule =+ @Bxe |w|s=4+%-6=- )| =g - (B8x9 |u |
e ¢ =9 - L= ) |90 = + (=98 |91 | v = ¢ - = ) |9l = € - (Lxe6 |9l
w €l = s +0= )lgil o= - @@=z [ 9 =1%-0= )]|a = 9 - (9x8 |4l

O I = 2 + (g =+ ) |y | 9 = - G=¢s9) || 2 =9 - (= ) |1 = 9 — (G x9) |
,Nu el = s +&w= )lel|l s = - wW=2 (e o0=956-&= )]|e =L - (xHn |
S L =¢+6€= )lalc = - (e=6) |2 | ¢ =¢-(€= )|z =9 - (ex9 |l
% G = % + (2= ) [ g = - (2 =% |1 G = % - (= ) 111 = 6 - (@x6 |1
T. m_mu¢|A xG) |'oljge =6+ Hx )fo|jo=¢+(@G= )]0l = L + (€x8) |0l
M 159 = 6 —( x0l) |6 | 9 = 9 + (01 x )6 |2 = 9 + (0 = ) |6 = 0l + (0 x 1) |6

1 w%nmlA X 6) |'8 66 = G + (6 % ) |8 vl = % + (6 = ) |'8 = ¢ + (6xy) |8
s = c-( x® L |sw=129c+6x )|z |n=23+@s )|z =9 + @x8 |z f_
mu.. lsv=v-( x0 |9 |se=9v+Gx )9 |sl=c.+w= )| = v + (Lx% |9 m
=il s = s +( x9 |§ |&e=2-6x Hlglin=1¢+0= )l|e =9 + Gx% |g |2
‘me¢nw+A X S) |y 9 = % — (g x ) |y el = 8 + (6 =+ ) |y = G + (G x6) |y W
wmomnm+A X %) g L = G — (¥ x ) ¢ vl = G + (v = ) |¢ =2 + (Wx8 |© m
cllme=c+( xolz e =5-€x )z |a=9+k= )|z - ¢ + €ex0 |z |
B o= v 1 ( x2) |1 8 = ¢ - (gx ) | I = 4% + @ = ) |1 = % + )

=

% M ppawiou wy pogwiou poswiou wy pogwiou

&

uiobpip9gQ | ulobppay) 9d _. HIDI 94 uibnT 9@



